GRAVITY FROM ELECTRICITY
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See i@)in Vixra 1711.0299; Author: Piscedda Giampaolo.

We had got ATQOM & (Js“”"

See 2/ )in Vixra 1771.0362; Author: Piscedda Giampaolo.
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From &) we obtain &%,Lt =
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In the 2/“') the zﬂgw is function of the relative value of a ether
% ,with respect to areference etherJ, ; therefore in the Q%)
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must be (Mn/a'/ 4T) = constant. Then we deduce that in

the %au is only a function of time:
"E:"%L.,t :L.ConSt&wt. t)O/ L < ﬁ
(& :

In the equation ?/) (See Vixra 1771.0362; Author: Piscedda Giampaolo)

if we change the value of the ether J, the value of mass must
change and viceversa; then the volume flux 2,) must be constant.
In 2°’) the \ff.-gu must vary proportionally as the ether



changes its value; because the volume flux is constant, then
must change the value in of @, and we write the equation j"’ﬁ
In this way:

o __:EE”___/ L(»f/f) @
(e 7qj [Cve)* (o)) Jw el A
Therefore the 7 a) is not function of distance * =\ melers,
from the point at which it is calculated the volume flux
generated by particle n.of mass M., in the reference ether 5,
but the equation 4“8 is only a function of volume density

of ether Sg.=(Ve/Mc) = (<\L. [ xMg) and mass M.,

See formula 4%?) in Vixra 1711.0299; Author: Piscedda Giampaolo
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Let's M, = lr’ﬂ)(l;%u = = ZPTX\\ PR
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Y]mis the mass density for a unit of surface and Xl{a\,& s

any spatial distance traveled by a light ray in a certain amount
of time elapsed.

If 3z increase its value, .. must decrease its value,

because the volume flux 5¢ M., is constant, then‘xhﬁ\ melers
must decrease.

Let M = neutron mass, M, = proton mass, Am=M, - M.
Me = electron mass = 9410938356 - A0>*Kg (CODATA value)
and Am, = Am _me.
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The 4’!\'( A e ) —is a sferical surface of
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This volume is function of My, and m.e through Am, = Am- e,
Now, we must make the distinction between the exterior and
interior volume and exterior and interior ether of a particle.
The interior volume of electron is \/ therefore the interior
ether of electron is 3.2 /.

In the equation /) the mass Am, Is the mass that is missing;
this mass for the equation <) does not disappear completely
since the smallest value is that in the ether reference S
iSfmh #£ 0. Therefore the volume V, decrease until Am,=m
We will call the ether that encircle the electron Exterior Ether.
If we assume that a particle, compared to the exterior ether 5

W\ 6_
have an interior ether 5., . = 4 ™ then in the reference

'Par’ttc(?_ =
ether of particle, the value of exterior ‘?YetherJGBmust be /M~
while the interior ether of particle will be 4 — ™ 1<,
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So the exterior etheris J,

: oxt,
The relative value of ether 3¢ is respect to areference ether
36 < 3¢, therefore the value of ether J"e, respect to ether 5; is
oD, S _ Imef Vi ’*“ . AR51326 . fo>0

—_—

Do ' "MnJe & K:G




We proceed extending the 45D

See Vixra 1711.0299; Author: Piscedda Giampaolo

to the electric force.

We know that neutron having electric charge zero and therefore
would prevent to extend the 45 ) to the electric force.

The neutron consisting of 3 quarks udder.

If we extend the 452 to the electric force, we describing the
electric force of particle n, through its mass flux, generated by
particle v in any reference ether.

Then to the mass flux Yu. 3. * generated of quark win the
reference ether ‘S;’l , we must add up the two mass flux
generated by quark o in its reference ether 3=

Therefore for each quark of neutron the total mass flux is the
sum: V, 3.°= Vg 35*-Vy 33t = ¥, 3.~ 2 V30t =)
(\/{/t LV are respectively the exterior volume of quarks o\,d, ).

From equation g) (see Vixra 1771.0362; Author: Piscedda Giampaolo)
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From which we obtain M, Tsuen = MM, b

and from b )
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Experimentally we get || = |Rl=230c70%15 10 %8
(Tj; and ¥ are respectively the repulsion force between two
electrons and two protons).

Through the value of (F,) and [F]

we get it E e
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For Q ) we can write Me de = 'mp fit 8 Jv from which

we obtain ’Y\’\h(f—*j) my, (fm" e "‘) f)>

The equation b ) shows that we can always find one reference
ether, such that the fluxs generated by particle e and particle »,
are equal and also their mass.

Therefore AV = M, Je —Mp ¢ must be function from the choice
of reference ether.

As m is inferior limit of mass flux in the reference ether =y
then the value of equation 5) can not be smaller of = 0.



The quarks also have color charge; the total color charge of
particle must be zero, then each quark of neutron, through its
color charge, must interact with to the color charge of the
others two quarks. So, each quark of neutron, must reached up,
from the others two quarks of neutron, by a flux mass of 2, .
Therefore to each quark of neutron we got a total mass flux
"My + v, mp = 3Mm,

As the neutron consisting of 3 quarks, the inferior limit of the
total mass flux of neutron mustbe >-C 2m,") =9 m,
Also to the proton, we got a inferior limit of the total mass flux
equalto 9 My, .

So to obtain the total mass flux of Hydrogen (electric charge

zero), we must add the flux mass of electron to the total mass
flux of proton.

Because the electron haven't color charge, the inferior limit of
mass flux of electron in the Hydrogen, must be M, .

Therefore the inferior limit of the total mass flux of Hydrogen,
must be 10My, .
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Because Mun= Vx g (\/x interior volume of electron) for the

equation i(ié\, every proton will be always associated with one

electron. In fact, for 1)), the mass flux is not function of
distance of volume ., from the point at which it is calculated.
As the inferior limit of mass flux of Hydrogen is 10 Mn we must
multiply the ether | 32\=2"> py 10; because the inferior limit
In thE L.?Zeas\gce ether;“% crl(?\ﬂb not is 10”mh but my,, th:geﬁn wg got:
10[3e "lgg— = |3&°1 g, = 485422 40 z%

Now, we introduce a cartesian axes system Oxyz.
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We choose as orlgln Of, any point of the surface of particlen .
Let b=LT Xh%‘ﬁb constant gnd Sg = corstant.
Let O' be the centre of particlet ; then, in the pointXy, at
distance %, to O, along the direction of 00', we have

e Qe e = :
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then in X, we got \\1“ e Q/G,ZL\D
(X, is a point of X axes “at dlstance r from O).
In this case we callM, the unreal mass ofMn inXs, and Q¢
is the mass flux generate in Xn, from unreal mass M in the
reference etherJe ; i.e as in Xx, there were really the mass™,, .
So, if a proton 2 is in motion to velocity < , along straight line
that join £ to another proton , then the mass or volume flux
of . and B , increase as the distance decrease.
We suppose that the mass flux of & increase of do ; as every
proton will be always to associate with one electron, then in the
electron€, the mass flux decrease of -8-%¢ . Because also
for the protonf the flux of mass increase ofd.a¢ , then in the
electron®€, the mass flux must decrease of - d.o..
Why the mass flux in the electrons decrease of -do.?
The limit inferior of mass flux for electron in Hydrogen is =,
while for the proton is 9 my,; if we increase the mass flux of
protons £, of day;, the flux mass of & wild be 9. +da, and
the mass flux of electron decrease of - daajbecause the mass

flux oh Hydrogen must be 10t,,. Being the inferior limit of mass
flux of €, in Hydrogen equal to m,,, the electron e, generate a
mass flux +d o :

such as m,—d; + d. Qe = An,,; we deduce that the mass flux
dac = ddec cause the repulsion betweenf; and .




Owing to decrease of distance ] F, , the smaller mass flux
that can be generated for each one second of time elapsed,
relatively to the reference ether 5., must be dag = .

So the mass flux generated from the system ©, 5 @,is 3w,
and that generated from the system € €, €4 is 3m,.
Therefore, when the distance between ¥, and £ decrease, will
be generated a total mass flux of 6m,..

The decrease in the distance between two electron ¢, ande,
would do decrease the inferior limit mass flux of the proton,
from 9m, to 8mw and this is again absurd, because 9t is the
inferior limit of proton; so we obtain again repulsion between
g and e, .

Because in the reference ether 3 the limit inferior of mass flux

is m,, thenwe got 32U. z2tl e (495133¢. 4@31’“”) ¢
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| think that we have obtained AD’PM; 0 because we have not
considered the neutrino.

If we do not consider the neutrino, it's as if we had taken for the
Hydrogen a reference ether, whose volume density is equal to
the volume density of neutrino. Indeed, in such a reference
ether 3,_, the neutrino is indistinguishable from ether J,,.
Then we suppose that J,. ¢ Jg is the reference ether of
Hydrogen and therefore that we can detect the neutrino
because we observe the Hydrogen from the reference ether 5; .



Let V, = ¢ My, be the smaller volume flux, generate in the
reference ether 5, through the mass m,_.

A‘S’“‘t = 925289 - 7m0

ASM A M 4 2mlC 15725

B3¢ % i

Is a interior volume density, while ( AZY"‘ ) Is a interior
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Then the upper neutrino mass in the reference ether 3¢ is
T STUE -
@3}; {:) \/h = 4«,0602 - A0 g Kﬁ LB e = 208 e\//cb

Why don't | get repulsion if | approach a neutron to a proton or a
electron?
The neutron in the reference ether 5, appear as a Hydrogen.
Therefore proton (electron) and neutron only interact through
the gravitational force.

(

= "
We have ‘:} _ e ,5029.

We analyse the neutron decay in the ether reference 3.

We suppose that after neutron decay, any proton rotate from
right to left along its axis of rotation. In the Oxyz cartesian axes
system, we suppose that the two protons P, and £ in the x axis,
have its rotation axis parallel to y axis.

Hypothesize that after neutron decay in the reference ether 3,
the electron go from F; to £, , then if we observe the neutron
decay from proton ¥, , we note that the electron draw up to
proton £, and also that K rotate from left to right.



If instead of observe the electron from a we imagine that the
time elapsed from future to present, then if we observe the
electron from £, we note that the electron drawn up to protonPj
and also that £, rotate from left to right.

Therefore the physical phenomenon observed in € when the
time elapsed from present to future, coincide to the physical
phenomenon observed in¥, when the time elapsed from future
to present. Then, while the electron draw up to proton Pwe
don't have repulsion but attraction.

The upper limit of neutrino is in agreement to the Mainz
Neutrino Mass Experiment

Reference: The Mainz Neutrino Experiment
J. Bon, B. Born scheme, L. Fichtner, B. Flattering,
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J.P. Schall, Th. Thiimmler, H. Ulrich, Ch. Weinheimer
in collaboration with
0. Kazakhstan (INR Troitsk, Russia), A. Kovalik (JINR
Dubna, Russia), P. Leiderer (University of Konstanz,
Germany)
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